
 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

１，次の英文を『仮定法』を使った表現に書き換えなさい。 
 

① As  I  didn’t  know  French ,   I  didn’t  talk  with  her .  
 

 

                                          

 
② As  I  was  not  you ,   I  couldn’t   say  such  a   thing  . 
   

 

                                          

 
③ As  he  wasn’t   eighteen  years  old ,  he  didn’t  drive  a  car . 
 

 

                                          

 
④ As  he  didn’t   work  hard ,  he  didn’t  succeed . 
 

 

                                          

 
⑤ As  you  didn’t  get  up  early ,  you  couldn’t  have  your  breakfast . 
 

 

                                          

 

☆ 『仮定法過去完了』 

 

 

□  If    I  had  been  free  ,  I  would  have  visited  him  . 
 

 

    ⇒  As   I  was  not  free  ,   I  didn’t  visit  him  . 
 

 

 

  □  If  he  had  come  sooner  ,  he  could  have  met  her  . 

 

 

    ⇒  As  he  didn’t  come  sooner  ,  he  couldn’t  meet  her  . 
 

 

 

※ ｢過去の事実とは逆｣のことを仮定法で表現するとき、{ 従属節 }の時制は｢had＋過去分詞」

の『過去完了形･大過去』になり、『主節』の述語は「would  have ～(過去分詞)」となる。 

※ このときの日本語訳は「もし○○だったら、△△だったのに」となる。 
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